Midterm, mechanical vibration

Thursday, December 2, 2021 10:53 AM

Determine equivalent mass moment of inertia, equivalent spring and equivalent damper. Write equation of motion and solve it for initial conditions.



| k_1 | $1000 \frac{N}{m}$ |
|--|-----------------------|
| k_{t_1} | $100 \frac{N.m}{rad}$ |
| k_2 | $2000 \frac{N}{m}$ |
| <i>k</i> _{t2} | $200 \frac{N.m}{rad}$ |
| k ₃ | $500 \frac{N}{m}$ |
| <i>c</i> ₁ | $10 \frac{N.s}{m}$ |
| <i>C</i> _{<i>t</i>₁} | $5 \frac{N.m.s}{rad}$ |
| c ₂ | $4\frac{N.s}{m}$ |
| <i>c</i> _{t2} | $2 \frac{N.m.s}{rad}$ |
| c ₃ | $2\frac{N.s}{m}$ |
| m1 | 2 kg |
| m2 | 6 kg |
| m3 | 1 kg |
| m | 8 kg |
| Jo | 20 kg.m ² |
| r ₁ | 1 m |
| r ₂ | 2 m |
| r ₃ | 3 m |
| 1 | 10 m |
| θο | 0.1 rad |
| θ ₀ | $3\frac{rad}{s}$ |



2 into (

$$\int c_{1} \dot{x}_{1} dx - \int c_{2} \dot{x}_{2} dx_{2} - \int c_{3} \dot{x}_{3} dx_{3} - \int (c_{1})_{0} \partial \theta_{0} - \int (c_{1})_{2} \dot{\theta} d\theta$$

$$Dissipated energy of equivalent system = -\int (c_{1})_{eq} \dot{\theta} d\theta$$

$$-\int (c_{2})_{eq} \dot{\theta} d\theta = -\int c_{1} \left(\frac{r_{2}}{2} \theta\right) \left(\frac{r_{2}}{2} d\theta\right) - \int c_{2} (r_{1} \dot{\theta}) (r_{1} d\theta) - \int c_{3} (r_{2} \dot{\theta}) (r_{2} d\theta)$$

$$-\int (c_{2})_{1} \left(\frac{r_{2}}{2L} \theta\right) \left(\frac{r_{2}}{2L} d\theta\right) - \int (c_{2})_{2} \dot{\theta} d\theta$$

$$\left(\frac{c_{1}}{c_{1}}\right)_{eq} = \frac{1}{4} c_{1} r_{2}^{2} + c_{2} r_{1}^{2} + c_{3} r_{2}^{2} + \frac{1}{4} (c_{1}) \left(\frac{r_{1}}{L}\right)^{2} + (c_{2})_{2} \quad (5)$$

$$Fquation of motion : \int cq \theta + (c_{2})_{eq} \theta + (k_{2})_{eq} \theta = \theta \quad (c_{1})_{eq} \theta = 0 \quad (c_{2})_{eq} \theta + (c_{2})_{eq} \theta = 0 \quad (c_{2})_{eq} \theta + (c_{2})_{eq} \theta = 0 \quad (c_{2})_$$

If
$$[(c_{i})_{cq}]^{2} - + J_{eq}(k_{t})_{cq} < 0 \Rightarrow$$

 $S_{1} > S_{L} = \frac{-(c_{i})_{eq} \pm i \sqrt{4 J_{eq}(k_{t})_{eq} - [(c_{i})_{eq}]^{2}}}{2 J_{eq}}$
 $= -\frac{(c_{i})_{eq}}{2 J_{eq}} \pm i \sqrt{\frac{4 J_{eq}(k_{t})_{eq} - [(c_{i})_{eq}]^{2}}{4 J_{eq}^{2}}}$
 $= -\frac{(c_{i})_{eq}}{2 J_{eq}} \pm i \sqrt{\frac{(k_{i})_{eq}}{4 J_{eq}^{2}}} - \left[\frac{(c_{i})_{eq}}{2 J_{eq}}\right]^{2}}$
 $W_{n} = \sqrt{\frac{(k_{i})_{eq}}{J_{eq}}}$
 $(C_{e})_{e} = 2 J_{eq} \implies J_{e} = \frac{(C_{i})_{eq}}{(C_{e})_{e}} = \frac{(C_{i})_{eq}}{2 J_{eq}} \Rightarrow \frac{(C_{e})_{eq}}{2 J_{eq}} \Rightarrow \frac{(C_{e})_{eq}}{2 J_{eq}} \Rightarrow \frac{(C_{e})_{eq}}{2 J_{eq}} = J_{eq}$
 $S_{1} > S_{2} = -J_{e} = W_{n} \pm i \sqrt{W_{n}^{2} - (J_{e} = U_{n})^{2}} \Rightarrow S_{1} > S_{2} = -J_{e} = S_{1} > S_{2} = -J_{e} = W_{n} \pm i w_{n} \sqrt{1 - J_{e}^{2}}$
 $W_{a} = w_{n} \sqrt{1 - J_{e}^{2}} = > S_{1} > S_{2} = -J_{e} = S_{1} = S_{1} = S_{1} = S_{1} = S_{1} = S_{1}$

$$\begin{array}{l} (\textcircled{)} \text{ into } (\textcircled{D} =) \quad \theta = (\fbox{C}, e^{-1} + \textup{C}_{2}, e^{-2}) \\ \theta = (\fbox{C}, e^{(-\dfrac{1}{2}\omega_{n} + i\omega_{d})t} + (\fbox{C}_{2}, e^{(-\dfrac{1}{2}\omega_{n} + i\omega_{d})t}) \\ = (\fbox{C}, e^{-\dfrac{1}{2}\omega_{n}t}, e^{i\omega_{d}t} + (\H{C}_{2}, e^{-\dfrac{1}{2}\omega_{n}t}, e^{-\dfrac{1}{2}\omega_{n}t}) \\ = (\H{C}, e^{-\dfrac{1}{2}\omega_{n}t}, e^{i\omega_{d}t} + (\H{C}_{2}, e^{-\dfrac{1}{2}\omega_{n}t}, e^{-\dfrac{1}{2}\omega_{n}t}) \\ \end{array}$$

$$\begin{aligned} \dot{e}^{tid} &= csd tisind \\ \theta &= e^{-\frac{1}{6}\omega_{n}t} \left[C_{1} \left(cs\omega_{d}t + isin\omega_{d}t \right) + C_{2} \left(cs\omega_{d}t - isin\omega_{d}t \right) \right] \\ &= e^{-\frac{1}{6}\omega_{n}t} \left[(C_{1} + C_{2})cs\omega_{d}t + i(C_{1} - C_{2})sin\omega_{d}t \right] \implies \\ &= A_{1} \qquad A_{2} \qquad A_{2} \end{aligned}$$

$$\theta &= e^{-\frac{1}{6}\omega_{n}t} \left[A_{1}cs\omega_{d}t + A_{2}sin\omega_{d}t \right] \qquad (i)$$

Calculate unknowns(
$$A_1, A_2$$
) using initial conditions.
I. C. $\begin{cases} \theta_{(0)} = \theta_0 & t = 0 \\ \theta_{(0)} = \theta_0 & t = 0 \end{cases}$
(1) => $\theta = -i w_n e^{-j w_n t} [A_1 c_3 w_d t + A_2 sin w_d t] + A_2 sin w_d t]$
 $+ w_d e^{-j w_n t} [-A_1 sin w_d t + A_2 c_3 w_d t]$
(12)

According to the Table

$$J_{eq} = 31.2 \quad (kg \cdot m^{e})$$

$$(C_{t})_{eq} = 24.05 \quad (\frac{N \cdot m \cdot s}{rad})$$

$$(k_{t})_{eq} = 5201 \quad (\frac{N \cdot m}{rad})$$

$$w_{n} = 12.3112$$

$$(c_t)_{c} = 805.(580)$$

ξ=0.0299 ω_=12.9054

